[image: ]
Std. : 10th CBSE							Date : 18/06/2017
Sub : Maths (P.R)							Marks : 30     Time : 1 hr. 
Linear equations with two variables:
Q.1	Solve for x and y :  1. [ x +1 ]/ 2 + [y-1 ]/3 = 8 , [ x +1 ]/ 3 + [y-1 ]/2 = 8			[03]
                                                      2.  139x + 56y = 641 , 56x + 139y = 724
                                                      3. 37x + 43y = 123, 43x + 37y = 117
Q.2	Solve x – y = 4, x + y = 10 and hence find the value of p when y = 3 x –p			[03]
Q.3	Give linear equations which is coincident with 2 x + 3y - 4 = 0                     		[03]
Q.4	Amar gives Rs. 9000 to some athletes of a school as scholarship every month. Had there been 20 more athletes each would have got Rs. 160 less. Form a pair of linear equations for this.   												[03]
Q.5	1. What is the value of a for which (3, a) lies on 2x – 3y = 5          				[03]
            2. Give linear equations which is coincident with 2 x + 3y - 4 = 0 
Q.6	The sum of two natural nos. is 25 of their difference is 7. Find the nubmers.       		[03]
Q.7	Solve the pair or linear equations x – y = 2 and x + y = 2. Also find p if p = 2x + 3	 	[03]
Q.8	Check graphically whether the pair of eq. 3x + 2y – 4 = 0 and 2x – y – 2 = 0 is consistent. Also, find the coordinates of the points where the graphs of the lines of equations meet the y-axis.      											[03]
Q. 9	If from twice the greater of two nos., 20 is subtracted, the result is the other no. If from twice the smaller no., 5 is subtracted, the result is the greater no. Find the nos.			[03]        
[bookmark: _GoBack]Q.10	Ashok covers 60 km in 1½ hours with the wind and 2 hours against the wind. Find the speed of the Ashok and speed of the wind.								[03]

*Best of Luck*
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